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GENERAL PAPER - 1

AN 9999 - 1 ;

1.  Distance between two stations A and B 1. LA A FRB F o9 HI ol 778 foet 7|
is 778 km. A train covers the journey from T 29 A ¥ B ¥ ofta #I Tl 84 et wfa =
A to B at 84 km per hour and returns back FT WY G H 2 AR A9E BY A,
to A with a uniform speed of 56 km per 56 formt 9fd =i 1 <X | oIt 81 9 g
hour. The average speed of the train AT F1 a:ﬁ’qa =T T B ?
during the whole journey is : f
(A) 70.2 km/hour (A) 702 fgxﬁ gfg =1
(B) 75 km/hour (B) 75 st wfa
(©) 67.2 km/hour (C) 67.2 Tt wfa s
(D) None of these (D) T q = &

2.  Fillin the blanks to complete the series : 2. 9oft gof A 2 fiam e @

28, 84, 112, 196, 308, 504, 28, 84, 112, 196, 308, 504, 7

(A) 812 (A) 812
(B) 872 (B) 872
(©) 785 (C) 785
(D) None of these (D) ¥ A

SPACE FOR ROUGH WORK / % & & faa e
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In a town of 500 people, 285 speak Hindi
and 212 speak Marathi and 127 speak
English, 20 speak Hindi and English not
Marathi and 29 speak Hindi and Marathi
not English and 35 speak English and
Marathi not Hindi, remaining 50 speak
none of these languages. Then how many
speak only one of these three languages ?
(A) 321

(B) 371

() 312

(D) None of the above

Which of the following is/are correct

about routers ?

(a) Router connects Multiple Networks

(b) Router Provides Network
connection for only Wired Devices

(¢) Router assigns IP Address to the
Computers

(d) Router has a Pool of IP Addresses

(A) (a), (b) and (c) only

(B) (), (c) and (d) only

(©) (9, (d) and (a) only

(D) None of the above

When a producer allows 36% on the retail
price of his product, he earns a profit of
8.8%. What would be his profit percent
if the commission is reduced by 24% ?
(A) 12%

(B) 49.6%

(©) 64%

(D) None of these

500 §&A1 A UF wE §, 285 fat dery
a1, 212 At [ Serm 9, 127 St sen

a1, 20 &=t SISt W TSt T ey
e, 29 fe<t it et W sist T Ao
e, 35 el B TS W fet 75 S

AT T 99 50 5 | T oft 9o 7 Sreny
e A, o | fw o e e §
FEE Tk W91 Se 9ot @ 2

(A) 321
(B) 371
(C) 312
(D) ST A mig o e

& i e i s o 32

(a) T TE-AeTH! I S

(b) ® X HaG a=E T & fog Fead
A i gfera S

(c) T F=RY I IP TH I ¥

(d) *XH P wZH =1 frem 2 &
(A) %9 (a), (b) TH ()
(B) e (b), () T (d)
(©) o (o), (d) T (a)
(D) ST H § HIE 7

ferslt W e Seame e e wae%
P2 1 T 3V 8/8% WY AR | I @Y
mw@m'ﬂrﬁq\zﬁm%mm
S ?

(A) 12%
(B) 49.6%
C) 64%
(D) 78 § & e
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6. Match the following : 6. fm= @rﬁﬁ HIfeE

(a) Jargon (i) Anger (a) VIsSSIA G w™
(b) Physical barrier (i) Unfamiliar (b) oifaw s/l (i) sTaRfEd dEAER
technical terms R{EH
(c) Attitudinal (ili) increases () oIfvgha @Y | (i) HHYOH FHEer
barrier effectiveness of TG
communication
(d) Emotional (iv) Resistance to (d) wEATHS FfEHT (iv) e & i fody
intelligence change
(e) Psychological (v) Geographic (e) TEETIE oM (v) wHimifes g
barrier distance
Code : % :
@@ () (9 (@ (¢ @ () () (d (o)
(A) @ @ @@ (@) () (a) @ @) @ @) (V)
(B) () (@v) (v) (@) (@) (B) @@ Gv) (v) (D) ()
© @ (v @) (@) @ © @ | (v @ 0
D & O @) @) @ D) v @ | Gv) @) (@)

7.  Which of the following is not a research 7.  $T9 & HH-H1 HATHHH TRHeqT T8 €7
hypothesis ?

(A) Comparative hypothesis (A) ToAHS TR
(B) Null hypothesis (13) A qfEheg

(C) Interactional hypothesis (C) siqthrais Ifmeq
(D) Differential hypothesis (D) faud aftewea

SPACE FOR ROUGH WORK / T% @14 & fordr wrg
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8.  Anaerobic digestion converts biomass

into :

(A)

(B)

(©)

(D)

9.  Statement (I) :

Statement (II) :

Methane and carbon dioxide

Carbon monoxide and sulphur
dioxide
carbon

Carbon dioxide and

monoxide

Hydrogen sulphide and carbon
dioxide

Plagiarism is neither a
civil nor a criminal
offence.

Plagiarism is illegal.

Statement (III) : Plagiarism is unethical.

TRfas® 2

©

(D)

faem

HTEA

)

ESIVH STEETE I afEtia s

Ud He1 SEATEES §

M ATFAEE TF G

SRS o

T SISHFIEE Te e HRieEe

3

BRI TCRIES Ud s SHSTFES

H

HUF (1) : wfeferm 9/t 9 @ amfts 7 &

STqUIfees aTaay £

HY (1) : Fifefers =R -+ 1
e (1) : Ffefere = eifos &)

Which of the following option is correct ? =1 4 | %1 o faseq vl 32
(A) Statement (I) and Statement (II) (A) /A (1) SR KT (1) T T |
are correct,
(B) Statement (II) and Statement (III) (B) =R (IT) 3R kel (IIT) @&t 1
are correct.
(C) Statement (III) and Statement () (C) /AT (1) 3R e (1) T & |
are correct.
(D) Statement (I), Statement (II) and (D) R (1), AT (IT) T SR (I11) T
Statement (III) are correct. g
SPACE FOR ROUGH WORK / T% =T & forg wmg
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10.

5 5

12.

Which of these cannot be put into 10.

non-experimental research ?

Which one of the following is not the level at.

Field Study
Field Experiment
Case Study

Survey Research

of teaching ?

(A)
(B)
(©)
(D)

Which one of the following is in correct 12,

Memory level
Understanding level
Comparative level

Reflective level

sequence ?

(A)

(B)

Knowledge—Comprehension—
Analysis—Synthesis—Application—
Evaluation

Knowledge—Comprehension—
Application— Analysis—Synthesis—
Evaluation

Knowledge—»Comprehension—
Analysis—Synthesis—Evaluation—
Application
Knowledge—Comprehension—
Synthesis— Analysis— Application—
Evaluation

7 9 forgent styrifiTes sgHy™ H & el
MEFME? |

(A) & e

(B) o T

(C) == et

(D) A& FTHH

feAddsR-g R s wTE §?

(&)

(B) ¥ ®W

(@) T W
(D) fo=meTH &R

1 5 | % | %H 6@ FH B2

(A) TH - = - fawemm - gyawo -

(B) TH — WY — 3TN — fagermo -
HYCTH0— eIk

(©) W—)ﬂﬂ%ﬁ?@lﬂﬂ%@ﬁﬂﬂé
e — SUERT

(D) T — FH — Hyewo — favewm -
W——)W
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9210/TFU-GEN/ELG-I 7

Set - A



Directions for question number 13 to 17 : U9 H&I 13 W17 7

Expenditure of four countries, P, Q, R and S, =R %?ﬁ, P,Q, Rau
on arms over the years (in million dollars) are (faferm gfert #)
shown below :

TR

A "5 A
Qe—2

70 R 70
o
560 60
<
° 50 50
S :
E 40 40
5
~130 0
E
5 20 0
(o
£
810 100 o
i > -

2012 2013 2014 2015 2016 2017 2018 2012 2013 2014 2015 2016 2017 2018

Years —» T —

If it is assumed that the country investing much g 72 9 form ST & i S < B W sifus
on arms, feels unsafe, loosing foreign exchange, fRWF@E 3T STeTd Hegw wial €, faesh et
facing political instability, detoriating = %t 27t & TsHfiE stfeer T HHAT LT B,
relationship with neighbouring countries and TerHt 90 T Wy fovn ferred € qen enfefer wmify
their economic progress being hampered, then  =fir 2T g, 79 frfefas wwi 5 = difem

answer following questions :

13.  During 2012-2018 economy of which  13. 2012-2018 % <RI fg W Wt sefeewen

country has been maximum hampered ? - T Ay aifya gf 82
(A) P (A) P
(B) Q (B) Q
© R © R
(D) s (D) s

SPACE FOR ROUGH WORK / % &4 % forr 3ig
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14.

19

16.

17.

Which country is loosing most of its
foreign exchange during 2012-2015 ?

(A) P

(B) Q
© R
(D) S

Which country may face maximum
political instability during 2014-2017 ?

(A) P
(B) Q
(©). R
(D) S

In which year/years between 2012-2018
all the four countries except one have
increased their expenses on arms ?

(A) 2014
(B) 2016, 2018
(C) 2014, 2017
(D) 2015

Which country is feeling most unsafe
during 2015-2018 ?

(A) P
(B). Q
© R
(D) S

FH G W 2012-2015 F A FHad AfF

(A) P
(B) Q
©) R
D) S

FA T2 2014-2017 F A Fad AfHF
Terfaes siferdn 1 9T faan €2

(A) P
(B) Q
© R
(D) S

2012-2018 & irg o= gd/asi § |t =)
3 TF I Brew R R @ FagrE T 7

(A) 2014
(B) 2016, 2018
(C) 2014, 2017
(D) 2015

FIF-FT T 2015-2018 F INH Ta@ ek
ST eqH @77

(A) P

(B) Q

() R

(D) S

SPACE FOR ROUGH WORK / 1% &1 & fo& s
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Read the foIIowmg paragraph and reply

question. (13-17)

The following paragraph given below shows
the percentage distribution of the total

expenditures of a company under various
expense heads during 2018,

The Total Expenditure of a Private Company
has the following Split :

6

The expenditure on pay and allowances
is 20% of the total expenditure of the
Company.

The expenditure on maintenance
(electricity, water supply, telephone,
transport etc.) is 20% of the total
expenditure.

Expenditure on loan repayments is 17.5%
of total expenditure.

The expenditure on security is 15% of the
total expenditure.

Purchase of new equipment/furnitures
and their repairs is 12.5% of the total
expenditure.

Payments made as taxes is 10% of the
total expenditure.

Contributions employee benefit fund is
5% of total expenditure,

ﬁwmﬁﬁlﬁqqaua—m ww’rmw

Trefafea sese, o 2018 4 freht gt & Ry
fim v % srfa $a1 =0 1 ghee foremor

F7oft Feaeft % o1 o 1 Foremear it o 2

mﬁ%%mwzo%éﬁqwﬂﬁw
= |

ﬁaﬁ,wa&ﬁ,éﬁmﬁﬁaﬁmﬁ:%
AT W =T FH 20% |

FO YT W Fe = H 1759 |
& W Fd 9 &1 15% |

W@W@%ﬁ@ﬂmﬁamw
AT W el B899 H1 12.5% |

F % T H FeT =9 51 10% |

TR T4 e H Fel 59 FT 5% 37977 |

SPACE FOR ROUGH WORK / T% &4 & forgy e
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13

14.

The expenditure on the Loan Repayments
is by what percent more than the
expenditure on purchase of Equipment/
Furniture, their repairs ?

(A) 5%
(B) 10%
(C) 20%

(D) None of the above

If the expenditure on 'Security is
% 2.10 crores then the difference between
the expenditure on New Equipment/
Furniture and their repairs and taxes is :

(A) T 1.25 crores
(B) T 95 lakhs
(C) % 65 lakhs

(D) % 35 lakhs

13.

14.

301 YATTA =9, SR/ EER il TR
Td I AU W T T F @ R
wfeer afereh &2

(A) 5%
(B) 10%
(C) 20%

(D) SW § F FE TE

Ifg geen =99 & 1 T 2,10 FAS &, @
IYHOY/FH=, ST HOHT T Hl R =T
1 TR Ui = SR Fa HifeT

(A) 125 U3
(B) T 95m@
(C) Z65am@

(D) T35 @@

SPACE FOR ROUGH WORK / T% & & fod e
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15.  What is the ratio of the total expenditure 15, TAH T T TR ) EREER
on maintenance and purchase of new 3R ST O R =g Y ERUERC]
equipments/furniture, their repairs and F T T T 5 ST Jd iy |
to the total expenditure on taxes and
loans Repayments ?

(A) 5:4 (A) 5:4
B) B:7 (B). 8:7
) 9:7 ) 9:7
(D) 13:11 (D) 13:11

16. If the Loans Repayments amounted to 16, afe 5 TIYTEE #2245 TS A, @
% 2.45 crores then the total amount of YU, T T FHIR A9 e T =T F 7
expenditure on Security, Taxes and FA U fepat £ 2
Employee Benefit Fund is :

(A) R 7 crores (A) 7+
(B) % 5.4 crores (B) %54 Flg
(C) T 4.2 crores (C) T42

(D) 3 crores (N ..x3

17.  The total amount of expenditures of the 17, =3 ELczuv TS ITH HOHG W Y
company is how many times of F1 T AR, FIH F ot =79 w1 R T
expenditure on New Equipment/ 82
Furniture and their repair ?

(A) 05 (A) 05
(B) 08 (B) 08
€ 10 € 10
(D) 15 (D) 15
SPACE FOR ROUGH WORK / T% &4 % fordf wrte
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18. The foundation of all scientific research 18. @t SFTH W YR R
is:

(A) Report writing (A) wfderRa oA

(B) Research design (B) Wy AfHehed

(C) Formulation of hypotheses (C) STeTAE 1 f&qu

(D) Defining concepts (D) Fyedl &1 gftifiE ST
19, Read ‘.the following statements : 19. fr=afafea e = ufey

(a) Teaching is a social act. (a) Tosm e T R ¥

(b) Teaching is a personal act. (b) e ks =fema e B

(c) Learning is a social act. (c) oifrm ws Gt fona B

(d) Learning is a personal act. (d) sifom ww =aferma o 81

Choose the correct option from the codes frefafea £ & @ @@ fosweq &1 =9

given below : FIT

(A) (b)and (d) (A) (b) W@ (d)

(B) (a)and (d) : (B) (a) T (d)

(©) (b) and (c) (©) (b) T (c)

(D) () and (c) (D) (@) T (9

SPACE FOR ROUGH WORK / T& &1 & fo& s
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20.  Consider the following Assertion (A)and ~ 20. freffag AT (A) T 7 (R) W famm
Reason (R) and select the correct code FHifee 3R R feu T @ Ty E= i) ET
given below : 1 = iy
Assertion (A) : Teaching Effectiveness AwmaT (A) | foreror yurasfiern =51 fas
should be defined in specific contexts. ol 9 uftsfeg faran S =R |
Reason (R) : Effective teachers should T (R) : S99 et &1 o fmg m
have good command over their subjects. =31 AR I 21 =1
Code : % :

(A) (A) is false, but (R) is true. (A) (A) 39| 8, T (R) T B

(B) Both (A) and (R) are true, but (R) (B) (A) @d (R) 3 ¥ € 9] (R), (A)
does not provide sufficient reason ED fore gaie a6 ELSG &l Tl
for (A).

(€) Both (A) and (R) are true and (R) (©) (A)TE (R) S T € @R (R), (A) F
provides sufficient reason for (A). fere gata @k T A & |

(D) (A) is true, but (R) is false. (D) (A) ¥ &) W (R) &6 ¥ |

21. Learning : 21. HEa 9. :
(A) Increases Intelligence Quotient (1Q). (A) dFfs afsy HE.F,) ¥ gfg et &
(B) Modifies Behaviour. (B) oHEER H Uit g
(C) Develops interest. (C) = =1 famm g g
(D) (A) and (B) both. (D) (A) T (B) @i |

22.  Which one of the following is not a quality 22. =9 9 5 U o= e = Fergreran =
of a good teacher ? 87
(A) Sound knowledge of subject matter. (A) faw a5g #t g sHE
(B) Good communication skill. (B) s==1 VA |
(C) Helping students in getting (©) waéns‘fam:aﬁaﬁmﬁﬁmﬁm
meaning out of what he/she I HEAT T |
teaches.
(D) Helping students in preparing class (D) forenfef=i =1 e ZH T F werr
notes. AT |
SPACE FOR ROUGH WORK / 1% & % ford wie
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Comprehension :

Before actually entering the university for
my B.A., I had a whole year’s reprieve by failing
in the university entrance examination held in
the high school. I had expected to fare ill in
physics and chemistry, both of which had
defied my understanding. I never understood
what I was expected to do with the “data”
provided with the so-called problems, the

relevance of “atmospheric pressure” or “atomic

weight”, or what to do with logarithm tables,
or the why or how of a “normal” solution.
These points never became clear to me either
through my own efforts or through our
teacher’s explanations. I had been certain of
failure in these two subjects, but, as if by a
miracle, I had somehow passed in them, though
not with flying colours. On the contrary, I had
failed where I was most confident - English. I
failed so miserably and completely that
everyone wondered if I was literate at all. My
father, inspite of his strict attitudes in school
matters, had one very pleasant quality-he never
bothered about the examination results. He
always displayed sympathy for a fallen
candidate; he had no faith in the examination
system at all. But even he was forced to exclaim
in surprise, “stupid fellow, you have failed in
English! why ?” Proficiency in English being a
social hallmark, I remained silent without
offering any explanation, though I knew why.
One of our English texts was a grey-bound book
of chilling dullness called Explorations and

e

B.A. % fore favafoemea & awqa: wove &%
e, = feremera ® enifo favafermerd yerer wlen
F ol & T % HR0 W I R E a6
fam o1 g2 v o1 R iifas e SR A
o ¥ 1 ares E R S, i A 1 favE W
Tug % o A1 B we gwen & 9 a6
o < TR T4 F WY qY TN FA €, TgHeAd
2@ A TE] YR A AR SR st 9
T 4 geitya 0 AR FH F wrEfiTwar 1 S
oy T T | 39 fagsd oA d 7l = Wl
TS roren femel &t sanen & werd 9 | e
& A e 39 fa § e g w1 sfewn o
g 3T % faui, sga oT=sl e | Al el TR off
foret Tee o fawal | o 2 T S U THehR |
0 A o1 AR st H 3¢ faverd B9 % wEee
et B T, iR 3 a0 ae el g T W
o for ¥ fofera € oft o 76| N w1 =a @
waifera wdl & SAfafEarS gfew 2 gu ot 5
T e GEeE 07 o1 9 i | i o ®
fefamrea & 91 IR A el ¥R S et
F WY Ao weyfa whe w AR Hie fea
Ih! e yonferal W feerge fargemd =@ a1, v
T off ev=rd =re9a a3 e, RS el g
st § et B T &R 27 ST H 91 B U
g yA foe €1 T g2 ro ue o fw
off 9 § gu @ AR 3@ | T off ywr =
TyreRTor H9 e fea | T O TR gy
Ug femhatly M garae & aren i e
el SISt w1 U e o e = g uek &
JEnet e U o Wi | ufget e #Y e
goqui Sfiaegia | S §HM U gEE Hul
81 3| T8 g T W fon sreye o iR gEen!

SPACE FOR ROUGH WORK / T% &/ & fo&t e
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Discoveries, pages full of Mungo Park’s
expeditions and so forth. In my whole career |
have not come across any book to match its
unreadability. I had found it impossible, and
totally abolished it from my universe, deciding
to depend upon other questions in the
examination from Oliver Twist or Poetical
Selections. But I found in the examination hall
that four out of six questions were based on
Explorations - that horrible man the question-
setter seemed to have been an abnormal
explorationist. I gave up, left the examination
hall in half an hour, and sat in contemplation
on one of the brick monuments beside the lily
pond.

Answer question 23 to 27 based on the above
passage.

T e § o1 o § T e sin ¢ setar
AN I GAf2meT G el F GY 9 e
37 oW feEn oy wen & 43 urn f
6Wﬁ®4%@%@ﬁmmﬁmr@wﬁﬁ
T & Wl 1 42 B AT Ao v s
TFEARATTE o | HY ol 1 Bre fean, o) o 3
IR e o Big fea qen foreht oive % oy &
Wwi’zﬁaﬁzw%wm%wﬁ
F " o |

mﬁmﬁﬁa%wwrwhmzs@nmﬁm
W TS

23.  Why was it necessary to learn English ~ 23. 7 Al ofiisft ¥ smavass =i o 2
well in those days ?
(A) English was considered an easy (A) 3TUST T wee oy o
subject.
(B) InEnglish the prescribed texts were (B) sfirsit % feroeraeg g Tt 9 |
very interesting.
(C) English gave opportunity to sit and (C) Hrshl, Fem- * =1 srer <l
contemplate. ol
(D) It was a hallmark of social status. (D) =& St 1w foe o)
SPACE FOR ROUGH WORK / T% =78 % forgy W
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24.

oD

26.

The word ‘faith” in the above passage

(A)
(B)
©
(D)

Religion
Intention
Trust

Not loyal

The expression : “‘Abolished it from my
universe’ in the passage means that he
paid no attention to that book. Therefore,
‘abolished” and ‘universe’ here are

examples of :

(A) multiple meaning
(B)
(©)

extended meaning
overlap of meaning

(D) pun

The author’s father was not disturbed by
his son’s examination results because :

(Choose the most appropriate option from
those given below)

(A) He was a man of wide sympathies.

He did not think the examination
system was fair and reliable.

(B)

(C) He knew that his son was stupid.

(D) His
explanation.

son gave a convincing

24,

25.

26.

(D)

Ioe YOS H Wy v e g £ 2

(D) AFSTEH

FAfyeafe ' usiferees e wim A1 gfed @
e ¥ fF 321 39 sk W A el e
q: TRl aifes’ 1E ‘gfed Sew €

(A) wgeE®
(B) fowga siefamen
(C) 319 =1 3TESTEA
Nl

wE® & faat o gF % wden 9o W
Teifod =18 <& =it -
(Ha8 3UgT famed gfn)

(A) 9T 9E FErYfa Yhe FH 9l sHfe

g |

TF FTHR TeT yure 3fEd g
Tavaatg =&l o

I HIGH o T 37 49 gd
I Y3 7| U favar 9 =men &

(B)

(©)
(D)

SPACE FOR ROUGH WORK / T% &4 & fod we
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27.  In what subjects did the author pass ? 27. e ¥ ored i fha fava & v faeh 2
(i)  Physics (i) ifaen|famm
() Chemistry (i) TETA P
(i) English (iii) SIS
Choose the correct option from those = < et foreredi @ w& faemeq gfFT|
given below :
(A) (i) and (ii) (A) (i) 3G
(B) (ii) and (i) (B) (i) ¥ (ii)
(©) (i) and (i) (©) (i) 3 Gi)
(D) (i), (ii) and (iii) (D) (), (ii) [3R (i)
28. Match the following in respect of schemes 28. Freed TS Beh 324l & Gay § e =)
and their objectives. gafera sifsy |
Abbreviations Objectives Ay 3%?‘5
(@) OSCAR (i) One stop education (a) OSCAR | (i) &7 W1 TgHA 9oa
portal
() NPTEL (i) Ranking based on (b) NPTEL @ (i) Ml F Tefiehiol |
innovations of the aenfia ek
institutions
() ARIIA (i) Building engineering () ARIA (i) fafeSn gshifaftr i #x
and core science courses qEY g
(d) SAKSHAT (iv) Animations repository (d) SAKSHAT (iv) UTAtiyH fidifsed
Code : e
@@ () (o (d) @ (B (o) (d)
(A) @ @) @v) (i) (A) O @ (v) (i)
B) @) @) (@) () B @ @ @) (@)
(©) (v) @) @ (@ ©) (v) (@) @ (@
(D) (i) (v) (i) () (D) @) @) @) @)
SPACE FOR ROUGH WORK / 1% &g % et e
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29. Match the following : 29. = =1 gafaa #ifed -
(a) Kinesics (i) Body movements  (a) FHEATIFY (i) R Tfafafar
(b) Encoding (i) Formulation of OEGETIETU (i) Hew = Fmio
message
(€) Verbal (ili) Skype calls (c) ThfEs® guR (i) THET HA
communication
(d) Proxemics (iv) Space around the  (d) WEfHFR (iv) eI % 3G 9
speaker T
(e) Communico  (v) Participate (e) THHfTHI (v) e -
Code : Fe :
@ () (© (d (e @ () () (d (e)
(A) @) @ @ @ @) (A) @) @@ () @O @)
(B) () (@) (@) (v) (v) (B) (@) (@@ (@) @) (v)
© (v (Gv) @) G @ © ™ Gv) (@) @ @
D) 6 @ () G Gv) D) @ @ (v G @)
SPACE FOR ROUGH WORK / 1% & & o =g
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30. Match the types of barriers to
communication in List - I with the factors
that cause them given in List - II.

List - 1

(a) Physical and

Mechanical barriers

(b)  Socio-psychological

barriers

(c) Semantic barriers

(d) Personal barriers

Code :

List - II

(i) Jargons

(ii) Lack of
confidence

(i) Time and
distance

(iv) Distrust

30.

(b)

(d)

el - 1 % §9R ¥ =a0y F gER #
Tt - 11 & FWeh! &1 gaferm Hifw

et - 1 gt - 11
“fiftrer e A ()
=Ty

TES-wAs () fovam @6
ey HHT
et foqe oo (i) WA
Jafes ey (iv) sIfavarg
T

(@) (b) (d) @ (b)) (9 (d
(A) (i) (iv) (i) (A) () @v) @) ()
(B) (i) (i) (iv) (B) () @) @ ()
(© () (i) (i) (©) (v) (@) @ (i)
(D) (i) () (iv) (D) @) @) @ (i)
SPACE FOR ROUGH WORK / 1% &1 & fod wie
Set - A 20 9210/TFU-GEN/ELG-1




31. Which of the following abbreviations are 31.

correct ?

(a) GUI - Graphic User Interface

(b) ISP - Internet Service Provider
(c) GIGO - Garbage In Garbage Out
(d) VPN - Virtual Personal Network
(A) (), (b) and (c) only

(B) (b), () and (d) only

(©) (9 (d) and (a) only

(D) (a), (b), (c) and (d)

32. Which of the following is not a 32.

characteristic of communication ?
(A) Itis a two-way process
(B) Its flow is linear

(C) Itinvolves information sharing and
understanding

(D) Itisacontinuous process in business
and non-business organisations

fAddsR T &?

()

(d)

(A)

(B)

(©)

GUI - Graphic User Interface
ISP - Internet Service Provider
GIGO -|Garbage In Garbage Out
VPN - Virtual Personal Network
F (@), (b) T (c)

F4 (b), (0) T (d)

9 (c), (d) T (a)

(@), (b), () W& (d)

= 4 9 =9 W HuR % u v s € 2

(A)

(B)

(©)

(D)

Ig <1 I wfsman §
g et v § e e ®

TH I 9ien S AR gHy wiEe
@R

= T8 T’ =Fe9d el §
Had ufEan &
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33.

34.

Which of the following is true regarding
vehicular traffic pollution ?

()  Implementation of BS-6 norms from
April 2020.

(i)

Implementation of BS-5 norms from
April 2020.

(i)
(iv)
(v)
(vi)
Which of the following is correct ?
(A) (), (i), (v) only

(B)  (ii), (iii), (vi) only

(© (i), (iii) only

(D)

BS5-6 norms are related to Engines.
BS-5 norms is related to Engines.
BS-6 norms is related to Fuel.

BS-5 norms is related to Fuel.

None of the above

Statement : “Should a law be made to

make marriage ages of boys and girls

equal ?”

Arguments :

(I)  Yes, boys and girls are equal in the
society.

() No, girls become physically

33.

34.

e ATENTHA Jguol & Fwry H, fey o =

E E?
(i) 72020

(i) 78 2020

(i) BS-6 WH
(iv)
(v) BS-6HHH
(vi) BS-5 W=
=1 4 9 3E-T

W BS-6 W w1 A=A |

Y BS-5 HIeh! =1 A=A |

351§ gt B

BS-5 W $oH1 § Trefed )

EAl 9 grafd g
Syl @ grafem ¥
& E?

(A) Fad (i), (jii), (v)

(B)

(D)

wYA ;Y
Y A @A F

T

Ha (id), (i), (vi)
(C) a (i), (i)
SR § W FE T

thi Td TefRal & forame =
fere s a9 =g 2"

(I) T, I a1 eTew T § s &

(1D

&, wTsfRal i w9 9 oew o

matured earlier than boys. I ftyaa 8 i € |
Select the most suitable answer : Had 39 ST [ =TI hifeg
(A) Only argument (I) is strong. (A) Fae1 e (I) HoTeE &
(B) Only argument (II) is strong. (B) kel Tk (II) ToTe@ )
(C) Either (1) or (II) is strong. (C) =T (1) =0 |(IT) HTea
(D) Neither (I) nor (I) is strong, (D) @ (1) A (1) Ha B
SPACE FOR ROUGH WORK / T% &4 & &g < g
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35. Which is the correct statement ? 35. WEr YR HH T ?

(@) Team communication should be (a) TA TEYY fywm SHITEIE o
more informal and sometimes Ffi- Siro=niss B ¢
formal.

(b) Personal communication should be (b) =fFa S d =i 3
more formal and sometimes FHHI- A B §
informal.

(A) Both (a) and (b) are correct (A) T (a) T (b) W& T

(B) (a) is correct and (b) is incorrect (B) (a) W&l B/ (b) T T

(C) (a) is incorrect and (b) is correct (C) (a)Ted §  (b) W&l B

(D) Both (a) and (b) are incorrect (D) i (a) 3|(b) T €1

36. Identify the correct statement : 36. Wat MRy H TEAd

(a) After independence to revamp the (a) Tl % ST qegol foren yoreh #
whole education system HUR %ﬁ Y 1948 - 49 F TemH o fiven
Radhakrishnan Education ST R | T B8 |

Commission was established in the
year 1948-49.

(b) Later on Kothari Commission was (b) @& H e’ HEM fgea fean
appointed and the reports of these A1 3 <1 ST St U & 3MER T
two commissions was made the base % foaqm ifa - 1989 AR =it W
for New Education Policy - 1989. '

(A) Both (a) and (b) are correct. | (A) (a) S (b) T wEl €

(B) Both (a) and (b) are incorrect. (B) (a) 3R (b) 3 T

(C) (a) is correct, but (b) is incorrect. (C) (a) WEl T, 9 (b) @ 1

(D) (a) is incorrect, but (b) is correct. (D) (a) oW §, 9% (b) W ¥

SPACE FOR ROUGH WORK / T% &1 & {1l =g
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37. There must be three terms in any 37. fersit frerd & forw 9 v srev 29 =Nfey |
inference. Which one of the following is =1 § | % v 3o gifod 98 22
not included in this ?
(A) Linga (A) feim
(B) Vyapti (B) =
(C) Anumiti (C) srfafa
(D) Anumana (D) TEE
38. Which are included in Digital Initiatives ~ 38. S=Ia¥ foian ¥ forw fefvea weai o =7
in Higher Education ? Gftfera foran |[smar & 2
(a) Starting online courses (a) STTEITE YTSTsRAT Fi IES
(b) Telecasting High  Quality (b) DTH <@ % g 3= TorEan foem
Educational Programme through HIFsRHAT 1 e
DTH Channels
(c) Establishing a National Academic (c) == VTSR STTHYH Y93 3 feru fasoa
Depository Exclusive for High e Thefhe feuifsedt #t
Quality Research Papers
(d) Establishing a Central Cloud (d) UTH TS R 9 ‘BAADAL
Structure called ‘BAADAL’ e STl T T
(4) (@) (b) and (c) only (A) 3 (a), (b) T (c)
(B) (b), (c) and (d) only (B) &= (b), (c) T (d)
(€) () (d) and (a) only (C) F (c), (d) T (a)
(D) (d), (a) and (b) only (D) Fa (d), (a) T (b)
SPACE FOR ROUGH WORK / T% &1 % fordl| some
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39.

40.

41.

Description of environment as it exists in 39.

nature is an :

(A) Environmental Inventing
(B) Environmental Setting
(C) Environmental Audit

(D) Environmental Management Plan

Biodiversity

include :

(A) Genetic diversity
(B) Cloning diversity
(C) Species diversity

(D) Ecosystem diversity

If in a certain language ‘KNOWLEDGE’ 41.

is coded as 256535475, how is
“HEURISTIC” coded in that language ?

(A) 853991293
(B) 835992183
(C) 753991293

(D) None of these

conservation doesn’t 40.

Wefd § Sufted qaferor s 9o ©

(A) TEfeRUiEg g

(B) uHiaXug Hfdn

(C) TATaRoN 3Haheror

(D) 9ISy Jaee arsm

Sterfafa Hwam H affod 78 © -

(A) SiHfew fafaea
(B) et fafayar
(C) =t fafaeman
(D) Sehraa faferer

afe fodft w1 #'KNOWLEDGE' &1 &e
256535475 & 1 $9 91 ® “HEURISTIC”
1 e T BT 2

(A) 853991293
(B) 835992183

(C) 753991293

(D) T | i FEl
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42. Education in ancient times was normally ~ 42. eI %a § §ar=d: fen difes w7 3

imparted orally and included TSH i St o qe 9% 9 yHwTEE s e

memorization of Vedas and RG] |maﬁsflﬁwqa;1ﬁsrﬁ SRR

Dharmashastras. Later on subjects which g

were taught included :

(A) Language, Astronomy and (A) wml, G faem we i
Mathematics

(B) Grammar, Sanskrit and Astrology (B) ARV, UEFHd Ug Sy

(C) Grammar, Logic and Metaphysics (C) =AU, o UF FeaHIHiE

(D) Sanskrit, Astrology and (D) H&Hd, SHifay Us deaHrarEn
Metaphysics

43.  Which of the following is/are true about ~ 43. ‘E-PRAGATI' % fawa & = § s=-=m

‘E-PRAGATI ? T €?
(a) It is a comprehensive scheme of (a) FE S-TEAR 1 U AYH I § S
E-Governance which provides Y T B AT ! Hard Sar &

services to the citizen of
Andhra Pradesh.

(b) Andhra Pradesh is the first state to (b) T TR H TeES snfbeaR w1
conceive and execute statewide YR 99H1 U8 =99 FE 9rell
enterprise architecture. Jeetl TY 3719 JeW 2

(c) It provides about 745 services to (c) % TN 745 FA WHR § FEW,
Government to Customer, TEFER TS TYT QR § TR
Government to Agencies and T Ha A
Government to Government.

(d) It has been developed in (d) 3 THIesT WEE TR % Teanm
collaboration with Technology 4 foefaa o &

Giant Infosys.

(A) (a), (b) and (c) only (A) F99 (a), (b) T (0)

(B)  (b), (c) and (d) only (B) F (b), (c) T (d)

(©) (), (d) and (a) only (©) F9 (c), (@) @ (a)

(D) None of the above (D) ol H |+ &

SPACE FOR ROUGH WORK / T% &Td & o sme
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44. The University Grants Commission was  44.

constituted on the recommendation of :

(A) Dr. Sarvapalli Radhakrishnan

Commission

(B) Kothari Commission

(C) Mudaliar Commission

(D) Shastri Commission

45. With a uniform speed a car covers a 45.

certain distance in 8 hours. Had the speed

been increased by 4 km/hour, the same

distance could have been covered in

il
75 hours. What is the distance covered ?

(A) 420 km
(B) 440 km
(C) 480 km

(D) None of the above

fovafammea &

ST T TR

(A) S T

qeM SN 1 e fEaet
T o1 ?

Al VTR HHITH

(D) el HHYA

THEHH Tifd 9
T T T R

ST g8 gl
=t forert 87

(A) 420 T
(B) 440 fepef}

(C) 480 feps]

(D) 39U H

T SR 8 He H U fAfv=a
afg nifa 4 fordt/siar | s

7%&‘%1?(@@@%1 EREE]

G g T
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46. Teaching method called the “Dalton 48, " Seed T firerr vgfa Heifi §

Plan” is concerned with :

(A) Abolition of classroom teaching (A) HEn-Rerm &1 3qeH # 7= # @H
and encouraging children to learn EIRIGIE= s iEeE & 3ARE wEm)
according to their own speed.

(B) A play way technique for (B) WE-Ea THF ¥ EN WifrE 9
development of physical and artistic F FIvE H A |
skills.

(C) Education through co-curricular (C) e =it Hmr o @a B HE-UIgThA 9
and extra-curricular activities AR Tffafei ¥ mem | foreqor |
within school boundaries.

(D)  An open school system, allowing (D) Tk qad el yonedt s e @y w1t
students to learn for themselves TR W 39 Y U § = F o
from surroundings through their e ¥ |
own initiative.

47. Match List-I with List-IT and select the 47. gEt-13 Hﬁf - 11 9 gafea =t fims ET
correct answer using following codes. T TR | WE IR 49tE Hifs |

List-I List-II et -1 et - 11

(Year) (=)
(a) Montreal Protocol i 1972 (a) WIZaS TR i 1972
(b) Safe Drinking Water Act (i) 1993 (b) wEEFTaeTTR @) 1993
(SDWA) in USA (SDWA) smafier &
() Wildlife (Protection) Act  (iii) 1981 (c) TECEARE (WHRM) (i) 1981
T
(d) The Air Prevention (iv) 1987 (d) HHE H uiitg taw (iv) 1987
and Control of Pollution EiERE R m 3
Act passed in Parliament TegeH T
(€) Convention of biodiversity (v) 1974 () Safafawm =1 w8 (v) 1974

came into force ] B

Code : L T8
@ (b)) () (d (o (a) (€ (d) (e

&) ™) @) @ @ @) A) () 0 @ @)

B ) ) O @) @ B) (i) 0 @) @)

© @ @) v @) @ © (@) ™ @ @

D) ) (v) @) @ G (D) () (i) ) @)
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48. Following is given a statement followed
by three arguments I, Il and IIl. Choose
the correct alternative to decide which of
them are strong arguments ?

Statement : Should mercy death be

legalized i.e., all those who are suffering

from terminal disease be allowed to end
- their lives if they so desire.

Arguments :

I)  No, Nobody should be allowed to
end his/her life at his/her will as
this goes against the basic tenant of
humanity.

(I)  Yes, patients undergoing terrible
suffering and having absolutely no
chance of recovery should be
liberated from suffering through
mercy death.

(IIf) No, even mercy death is a sort of

killing and killing can never be

legalized.
(A) None is strong.
(B) Only (I) and (III) are strong.‘
(C) Only (1) is strong.

(D) All (I), (II) and (III) are strong.

48. 9 U FHYA 3N IHF I A qH L 11 W
11 fed ™ & wé fasken gfa st 3 593
5 TTe 9% HIAE § 2

HYA ; T T91 e 9 § AU S 3= M
g difed ¥ 3% Afs (3= & @ sl ot

Teq T <A =mfed|

T

(0

(1)

(IID)

(A)
(B)
©

(D)

&, foret @1 ot eTo 3= W oSAT
f=ft @ W w1 eTEfa T I
=1 i F8 THad & Herd fHe
% fEams 2|

& Tl S 9o SR 9 SR ® 8
3T IFH HRET Y B B GG
TEI T W IR 3981 o SR I HL <Al
=fed |

&, 991 g Wt TF YER i T ©
3R = W | Sy SEtEn TE S
Ll

1E off 7% TEa e §
IS T (1) ST (I11) Fem €
EEREERINEEECRA

[t T (1), (1) TR (100) = wsrea
gl |
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49. Autonomy in higher Education implies  49. 3= fnen & | wmran =1 o3¢ fre & wdwan
freedom in: B R :
(A) Policy making (A) ifa freior
(B) Curriculum development (B) ureIHH fasma
(C) Finance (C) fea
(D) Administration (D) SR
50. Below is given a statement followed by 50. ﬁ@wrmmwvﬁ?ww
three courses of action numbered (I), (II) hHieh (1), (IT) 3R (111) few & | Ut drsn wie
and (IIT). Choose which action logically Sl difheh ®F | HYT F A6 B |
follows the statement :
Statement : Nuclear power cannot make WWW@@W&H%@W [
a country secure.
Courses of action : HTE T
(I) : We must stop further expenses on (I) : 9THIY| ST 1 9@ 8 T B4 sie FT
increasing our nuclear power. <1 =feT |
(II) : We should evolve a non-nuclear (IT) : §&m & fau a8 s R-TT] St
system of security. WoTTedt (=1 farshm s =nfen
(IIl) : Nuclear should be kept as (I11) : 9THm | ifer <61 frames & ®9 § @
deterrent. Hfea |
(A) Only (I) & (II) follows. (A) e (I) i (11) STTEROT HLa & |
(B) Only (II) & (III) follows. (B) ehae (II) R () STTH0T T 2|
(C) Only (Il) & (I) follows. (C) haet (L) 3R (I) ATEO1 HLar B |
(D) None of the above. (D) 39 H ¥ HE T |
-00o- -00o-
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SET - A

I 3iTeha & T 9T : 1927

Time for marking answers : 1 Hour

afersraw 37 : 100

Maximum Marks : 100

e :

1. =8 wA-gfee | 50 srqfe wed fou e €1 weie v ¥ foru 2 of fruifia §1 wsdt wod sifrard
gl

2. ﬁ?uﬁ%m‘m’mﬁmt%mmgﬁzmaﬂwﬁiﬁ%m%l v gfe
SITEr GRT 37 Wil i & e aht Rarfer & gamt geares 7@ @

3. 9El % IW, & T OMR -9 (SR-3Me) R 3ifra Hifaw )

4.  RUTHS HoAiA el g e |

ul
.

ferdit off T2 & Fepore A A Tae T HieRe B % TE afid T

6.  OMR 3IW-¥ile (E-32) 1 WA d Goa Tt 7 e 7 908 e 98 % 51 a1 5o
Hre 71 facrae anfe 9g & foas Foreey 98 @uE & S

Note :

1. There are 50 objective type questions in this booklet. All questions are compulsory and carry

2 marks each.

2. The questions for which OR part is given, this “OR” part is only for Visible Impaired
Candidates. If OR part is done by visible candidate it will not be evaluated.

3. Indicate your answers on the OMR Answer-Sheet provided.

4.  No negative marking will be done.

5.  Use of any type of calculator or log table and mobile phone is prohibited.

6.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get

torn or spoiled due to folds and wrinkles.
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